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SiMleyemrseT : (1) Amarsg a4l
pulmLifer, mné

gilurTégs Gararara]. SFsLLSeiled &6
sansTariureTfLLD 2 L g uiTss Qg fleflssaL.

Beold d@F SEHBLUY awwlamar LLHGCL TRIUSHESD,
21 5CEMg(HeugnGSLD LweTuHES CauamHiLd. LILBISET aUenTeusSnE
Quenfled LwETLHSSaLD.

(2)

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

(2)

L@ -1 /PART -1
Py : () SImSSl earss@EpsEh el walléEsa)w. 15x1=15
Qar@ésiiul Gerer wrpm eleLsafle WHsabd gpymLW
AaoLaws Corb0s0555 GHUELOLe el ulamarnd Cars g
GT(PSGLD.

Note : (i)  Answer all the questions.

Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

Qmaﬂuﬁt.@ mrgemg,smg; SIEDLLITETLD &ITeHnTss.
(=) &Ll - (@) destiuems (§) Haoaeustn () Heprusid

Identify the output device.
(@) Mouse (b) Keyboard (c) Memory (d) Monitor

TB5 eumliled Fmés saradll e DADP&SILHS g ?

(<=1) XNOR (2,) AND (&) OR (fF) NOT
Which gate is called as the logical inverter ?
(a) XNOR (b) AND (9 OR v (d) NOT

Buss iewliureg) Lwarms TSSan Hlene LINGISTLIGL eulpikiGEDS)?

(=) 3 ()2 (&) 5 (rF) 4
How many level of securities is provided by operating system to the user ?
(@) 3 ®) 2 © 5 (d) 4

aflerGLrmat LweTLITL g 6 Carliyser Qarimhlapewrs erbs GCamiyenmude
Celilg&sumb?

(1) My computer (<) My document

(@) My pictures (FF) Documents and settings
In Windows applications which is the default folder to save files ?

(a) My computer (b) My document

(¢) My pictures (d) Documents and settings

m, n rlsafle Log_ﬂulﬁl@g,g,@,a;@ 9@ eremen Log‘ﬂuq @@asgm?

(1) mn:=10,5

(2) mn:=m+3,n-2

B) m,n:=?7?

(=) 3,13 (<) 10, 13 (@) 13,3 () 10,5
After the assignment what values will be stored in the variables m, n ?

(1) mn: =105

2) m,n: =m+3,n-2

B) mmn:=2?7?

(@) 3,13 (b) 10, 13 () 13,3 (d) 10,5
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SpEETE@YD DLEG THEMET (PD QWG LD?

m:=0

while (m<5)

m:=m+1

(1) 10 (<) 4 () 5 (FF) 6
How many times the loop is iterated ?

m:=0

while (m<5)

m:=m+]1

(a) 10 (b) 4 (© 3 (d) 6

@ Blyedled 2-arer 858 m) sNES DADE

(=) eflevane&er (<) Curall&@Hlpern
(8) Cpdlpep () umdeyluLid
The smallest individual unit in a program is :

(a) Tokens (b) Pseudocode

(c) Algorithm (d) Flowchart

@eaupmer wLESH@ar QuEEGDGUTS wL_sHamar al_® QeualGup o saybd
Fapm Wrgl?

(<91) while (<,) goto (@) break (FF) continue
Which of the following statement is used to terminate the execution of the loop ?
(a) while (b) goto (c) break (d) continue

C++ -6 @@ GHUD®a T(pSS LHHID TETEIMSIT SO GeamawtT
eramueng EuMiss 2 5a|Lb QEwnaam 678l? ‘

(=) islower() (<2,) isalpha() (&) isdigit() () islalnum()
In C++ which function is used to check whether a character is alphanumeric or not ?
(a) islower() (b) isalpha() (c) isdigit() (d) isalnum()

int age[ ] = {6, 80, 75, 21, 10};

Qs sianfufe rgsamen e mILILSeT D Germen?

(<o) 4 ()2 (@) 5 (/) 6
int age[ ] ={6, 80, 75, 21, 10}; How many elements are there in this array ?

(@) 4 (b) 2 (c) 5 d 6
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11, QemeumeuacudmIET 6Ta L UDTUDIEGSD FT6 Uans ELh?

(<=1) char (<y,) class (@) float (rF) int
Which of the following is a user defined data type ?
(@) char (b) class } (c) float (d) int

12, Qeeumid (perauig.eydia, SLpESTL_euDH 6T ThHS &S QuESEILELD?
add display (add é&a); ‘
(=) poed 268
(<) prareey aysd
(8) SeTymESEHLET Fnlq i oy 58
() SieTméser @dars opéd

Which of the following constructor is executed for the following prototype ?
add display (add &a);

(a) copy constructor

(b) default constructor

(c) parameterized constructor
(d) non-parameterized constructor

13, Ct+-a Wameupd erps Qewp@hlenw venflil gLy Qeiwemb?

(=4) ?: (<) + (@) sizeof (FF)
In C++ which of the following operator can be overloaded ?
(a) ?: (b) + | (c)  sizeof (d)
14. Memeumeuameupmet ergl wryfod Quhn euflensulen QuéssLuRSg?
(1) porEMansse (<) <1fud
(@) SI(HeULTESLD ' () &8
Which amongst the following is executed in the order of inheritance ?
(a) composition (b) destructor
(c) abstraction (d) constructor

15. Spssareupmie erg Qewdweann LIAHE HHILD Sy seamer DSWTEHEmg;) ?
(=) sefluQurd perQeardser (<) e-fevwleror psarssio

(&) Blrebaer (m) pésplire

Which of the following deals with procedures, practices and values ?
(@) computer ethics (b) piracy

(c) programs (d) wvirus
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&L_L_MUWILE . .
b el wefllésey . 6x2=12

Note:  Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

20.

21.

22,

23.

seafls orand QEU@&,&QGST (ALU) Qeweour(h&er wireneu?
What are the functions of an ALU ?

(11.011), ’5"5}"’.1’ Smhoe aarafne HErmar LSETD cTaETEma SMes.
Convert the given binary number (11.011), into its decimal equivalent.

SHEPHE ETETDITE 6Temen?
What is recursion ?

C++ -@ 2 6T break, continue &pmiser LHH GOILIL (PGS
Write a note on break and continue statement in C++.

if gaplen HLLememEnoLIL pmD THSHESTH eT(HSIS.
Write the syntax and example of, if statement.

void grejeuansile (PES WS GIBIGET ereman?
What are the importance of void data type ?

L@ M6 TEELD GTGIMITE) GTEHTENT ?
What is polymorphism ?

TSCII - GTEIMITE) 6TEHIen?
What is TSCII ?

a=65, b=15 erafled é%@ésaa’vmeuﬁ)mm ST

(i) a&b

(i) a”b

If a=65, b=15, then find

0 i | GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Y a Perundurai R.S.
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GPiILY : aCsamid oum elamssEnse dmiwLalasab. elarm erar 33 -&E

L@&3| - III / PART - 111

SL_L_mwLbd ellenweflsse]ib. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25.

26.

27.

28.

29.

30.

31.

32.

SligUien. aurullevsef e CUUL I wosSmeT ET(YSEIS.
Write the truth table of fundamental gates.

CD wmmib DVD Caumu(sgis.
Differentiate CD and DVD.

LDIsEHE Cgmily. (Recycle bin) GHiliy cuers.

Write note on recycle bin.

AU (Decomposition) eresmimed eremen?

What is decomposition ?

GOy euenrs :

@ Aply Qerhser
(i) EHUCOLWrSET
Write short note on :

(i) Keywords

- (ii) Identifiers

C++ -ab stremp() - Gewpamm upd @HLY s
Write note on strcmp() function in C++,

Sfewfl ETEHTED ETEMET? DFET UMSSHET WITEHEU?
What is an array ? What are its types ?

Pyl euens SreRTBleney LIMEi@sar LDBl er(ps;)s.
Write about three types of visibility mode.
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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SCip Car@asuuBerer C++ flrapel) L 5g EWeareumLd elammésEnéE
afewLwefl&Eseaw.

Read the following C++ code and answer the questions given below :
#include<iomanip>

#include<iostream>

using namespace std;

class product

{

int code, quantity;
float price;
public:
void assigndata();
void print();

%

int main()

{

product pl, p2;
cout<<“\n Memory allocation for object p1”<<sizeof(p1);

cout<<“\n Memory allocation for object p2”<<sizeof(p2);

return 0;

i) Gupsar_ el @eadepeien Guw crerear?

(i) @esEedar srey 2 MLILGET WT®aI?

(i) pl, p2 - Qum(pETHERESETE Hlanares 251580 Wg)?
()  What is name of the class in the above program ?

(i) What are the data members of the class ?

(i) What is the memory size of the objects p1, p2 ?
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U@\ - IV / PART - IV

GUILY : Sievenssl ellamssenseh o walssali. 5x5=25

Note : Answer all the questions.

34. (@) sefluGurdlufer LOGean s wapEamer 6d6TsEs.
AN
(<) Qs ewINdar LILETSmET 6r(pSs.

(@) Discuss the various generations of computers.

OR

(b) Write the uses of operating system.

35. (=) C++ -6 2arer enipsafien euemssmarn afleuflésa, .
DIV

(<) Bienpay Gerdlliy L& erenpred ereen? gGCEEID ¢ Hiampey Cemdliy
wL&Hlear Qurg eugeud LHML QUTBSSWLra erHSFH&ESTL (L6

eSlaT&Es.
(a) Explain the types of errors in C++.

OR

(b) What is an entry controlled loop ? Explain any one of the entry controlled loop
with syntax and suitable example.
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36. (1) CH++-aif .. else oHmid switch anpifleir Gen_Cuw o_arar (& w Caugium@ser
GT GOTEUT ?

{60608

(<2p) CH++ -6d 2 der Lordlu e auenrGlweene edfparpaeneT eT(HEEIESTL (e
eflemd .

(a) What are the key differences between if.. else and switch statements in C++ ?

OR

(b) Explain scope rules of variables in C++ with example.

37. (1) () sL(Bm eTermmed erevmen? '.;91,5_5661 LIWIGHT eTeuen? -

i) sl @name Pelssassrar AsmLRud whpib @ TOsss6M6
TGS |

(i) @@ sLOmeldr o mlLsmer ereUeUlD HAES (Plylb?
THESIEETLH S([HE.

(a) (i) Whatis structure ? What is its use ?
() Write the syntax and an example for creating a structure.
(i) How to access members of a structure ? Give example.
{60605]/OR
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(<) Spsramd C++ Blyader QeuafuS e TG,
rHl&eT age = 23, height = 161.5 OHYID weight = 45 erand HHAHSG GaTaTere,b.
Write the output for the following C++ program.

Assume the values for age as 23, height as 161.5 and weight as 45.

#include <iostream>

using namespace std;

struct Student

4
int age; ,
float height,weight;

}obj;

int main()

{
cout<<"\nEnter the age :";
cin>>obj.age;
cout<<"\nEnter the height :";
cin>>obj.height;
cout<<"\nEnter the weight :";
cin>>obj.weight; '
cout<<"\nYour details :";
cout<<"\nAge :"<<obj.age;
cout<<"\nHeight :"<<obj.height;
cout<<"\tWeight :"<<obj.weight;
return 0;

38. (=) () Oumper Crrée Hrarssgden splilwdlsmar afleufl&seab.
@) Qummer CoréE Hrorsssdear parmosmer elleufléasa,.
(@ () Explain the main features of OOPS.
() What are the advantages of OOPS.

3|6ve0g)/ OR
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(=) QsTREsLLLGerer Qeuall§l e Gup Gereub C++ Hlyedgyerar
LEI]GG)EQSGU)GTT.LCJ]GU)I‘Q Fmssn Qalis.
Debug the given C++ program to get the following output :

Output

Sum Constructor :
Difference Constructor :
1. Add:

2.Difference :

Enter your choice :2

Enter the values for a and b :20 60

The difference of two numbers are -40
Difference Destructor :
Sum Destructor :

Program

?include<iostream>
using namespace std
class sum

{
int a,s;
protected:
int b;
publicly:
void sum()

{
; a=b=s=0;
cout<<"\nSum Constructor R

void input();

{
cout<<"\nEnter the values for a and b:";
cin>>a>>b;
void addition()
{
s=a+b; »
cout<<"\nThe sum of two numbers is :"<<s;
} |
void minus()

{ GREEN GARDEN MATRIC. HR. SEC. SCHOOL
return a-b; Perundurai R.S.
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+sum()

{
Yk

cout<<"\nSum Destructor :";

class difference # public sum

{

intdl;
public:
difference()
{
d=0;
cout<<"\nDifference Constructor :";
}
void sub()
{
input();
d=minuses();
cout<<"\nThe difference of two numbers are M<<d;
}
~difference()
{
cout<<"\nDifference Destructor :";
}
L
int main[]
{
difference obj;
int ch=0;
cout<<"\nl. Add :\n\n2.Difference v
cout<<"\n\nEnter your choice :";
cin>>ch;
switch(ch);
{
case '1"
obj.input();
obj.addition();
break;
case '2" -
obj.sub();
break;
)
return 0;
k
-00o0-
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